Intermediate Algebra - Ch 1&2 Review September 01, 2015

Chapter 1 Homework 2th pew’od:

1.1 #1-137 odd

1.2 #97-113 odd 2.5 due Tuesday

1.3 #30-57 odd; 97-105 odd; and study properties!

1.4 #1-31 odd Test #1 Wednesday

Chapter 2 Homework
2.1 #39-77 odd

2.2 #7-27 odd

2.3 #7-25 odd

2.4 #5,7,11,17,19,23,27
2.5 #35-71 odd
RHS-a0-aae

Test on Chapters 1 & 2

« set notation

e number sets

« properties of numbers

« distributive property

« order of operations

« combining like terms

« evaluating expressions

« writing numerical expressions from verbal expressions
« solving linear equations

« solving linear inequalities and compound inequalities
« setting up and solving word problems in one variable
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15. Simplify. —|—16] — |24
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17. Evaluate the variable expressionwhena = 2,b =3,c = —1,and d = —4
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18. Translate into a variable expression. Do not simplify.
the difference between the square of a number and the total of twelve and three times the number

-+

2~

X = (12 +3x)

21. Find three consecutive even integers such that twice the sum of the first and third integers is twenty

A Jx-s-Z-J%-)-ﬂ“

more than the second integer.

52(;« -Jr~;<+4}->: X+ +20

&(Rﬂ’r""’) =~ X+22
Ax +8 =Xt
4K-% =22-F

SX = \9

X =%,
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22. Fifty liters of pure maple syrup that costs $10 per liter are mixed with imitation maple syrup that
costs $4 per liter. How much imitation maple syrup is needed to make a mixture that costs S5 per liter?
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W) S |5ovx | slonsy”

16(59) +4x =5 L50+x>

23. Two airplanes start from the same point and fly in opposite directions. The first plane is flying 50
mph slower than the second plane. In 4 h, the planes are 1800 mi apart. Find the rate of each plane.

second FirSt
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‘P\aWLZ.\r | 4 e
T(-s0)+4r=1800
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24. How many quarts of water must be added to 5 gt of an 80% antifreeze solution to make a 50%
2, ook oF
,}er o deud Bubstance
.8
20% S9 3 5(-8)
ey X O () =0

50%  S+x 5 5 (91X

5 ( x> = .5(51’9

antifreeze solution?

25. Solve. Write the solution set in interval notation. 3x +7 <10 or 2x—1>5

2x < 10-7 u AN ZGH +
Ix<> AN Z

<= Xz 3
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R ) X+2.

6. The sum of 2 consecutive odd numbersis 104. What is the second numberin this sequence?

7. Atea mixture was made from 30 poundsoftea that costs $6.00 per pound and 70 pounds of tea that costs $3.20 per

pound. Findthe cost per pound of the tea mixture. c’bﬁ\’ %\l{
(I\N\g QoJ

ey

X+ x+2 =1O0F [du
2R =02 || L

30()

X =) 3% \70| 3.2

?O\<3 2)

%"
N\'\‘F\‘YL\/ Og \ 7(

(00X

20 () +70 (32 = [0Ox

|. Translateinto a variable expression, but do not simplify.

1. one-halfthe total of six times a numberand twenty two

33>

2. The sum of two numbersis 33. Using x to representthe fZggvo?the two numbers, translate “the difference between

six more than twice the smaller numbe>and three more than the larger number” into an expression with a single
variable.

b+2(33-) — (> FX)

II. Fillin the blank with one of the followingthree terms: identity, contradiction, conditional
— e

3. An equation thatis onlytrue for some instances of the variable iscalled

4. An equation thatistrue for allinstances of the variableis called

5. An equation thatis nottrue for anyinstances of the variable iscalled
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5,15,21, 2,35
355? 57—

LCM= 39 :(105}

—

b, 10,25, % ,20
2222’ 52°5 5 220 275

(ons 22T -9 =(300)

The sum of two integers is 96. Five times one integer is six less than the other
integer. What are the integers?

X ,90-X

5x= Qo-x — (5 [ IH6-X) =X =,
bx =96

x:$£0345 (VS % C’g\\:}
2.
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The sum of three consecutive odd integers is -251. What is the largest of the three?

x) )QJ—Z.J )\—!'4‘

X+ xrl+ R4 =25
Sx to =-¢3|
3x= 297

_23 %
W = -2d
S

The sum of three consecutive odd integers is 99. Find the second one.

X + XH+2Z+ A+4 :"l“’]
Sx ¥ =99

Sx =93

X=3)
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